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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

o T e fore

fa) What do you mean by ‘circular flow of
income’?

| Yo SR AT W R 2

{b) Mention two problems faced in National
Income Accounting.
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State Say's law of market
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& Whar s the meaning of th
te demand® :
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&) What do you mean by ‘paradox of thrift?
TER TR TR AR

TR = ey

@} Give two objective factors affecting
consumption function.

TrEs T woR REN T W wEY S
s

{h) Write the meaning of induced
investment.

s RSz

" Define marginal propensity to consume.

(3)

() Define reverse operation of the multiplier.

goaq oponeen®) ofba st forat o

2. Answer the following questions : 2x5=10
e S v
(a) State Keynes' psychological law of
consumption.
P xetewiae Sorcet RIFCG! fr 1

(b) Distinguish between average pmpgnsity
to consume and marginal propensity to
consume.

o o1

2 o difference between aggregate
?e:mﬂ;emncﬁon and aggregate SUPPY
function.
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(@) Write briefly about the im
port
investment multiplier in an u::f:; %
developed economy. =
Wi SRfde Ao sewa sefafien
4
e P b

3. Answer any four of the following questiong -

& R 1 oD e e forey W

{a) Define ;?ersonal income, disposab]
personal income and national income :

IS ww, W e .y
SR e forgr | 2tonin

(b) How did Keynes’ criticize the classical
theory of employment?
Fo o wwfre fam
OGS
SI9RGfE ?

(] :l:ntion some important factors
termining the consumpti
etz ption pattern of

43 A T IEa AT Ay '
Tomeprz R 2 s
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’ (8)

(d) With the help of diagrams, write the
differences  between  induced and
autonomous investrments.

o wramwe, waafe ae 77a e W
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(e) Distinguish between marginal efficiency
of capital (MEC) and marginal efficiency
of investment (MEI).

%mmmwﬁﬁm«a\ﬁvmﬂ
1@ forar |

() Write brief notes on the following :
e A vy G o -
(i) Gross National Product (GNP}
5 Al Teorw
(i) Net National Product (NNF)
b A% Te=

4. Answer any four of the following questions :
10%4=40

o R @ v 2 e e
(a) What are the methods usually adopted in

calculating national income? Give the
merits and drawbacks of each method. 10
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() Explain the importance and significance

s Eanest theory of of the measurement of national income.

employment. 10 Discuss the various difficulties facc?d
o Py SGOR WA S while calculating national income 61:14=10
SISECGRT | underdeveloped countries.
|
B P g e o e
(c) Discuss the subjective and objective we GeRfes ABE AT S
factors determining  consumption 2’ SPYRYPTR e |

function. Write  briefly about the

relationship between the marginal

propensity to consume and the AT
investment multiplier. 6+4=10

Borrsiol For fRfeerdl Rty o e Tty
BoMPE SIS 911 28 Beicsen e
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(d) Explain the theory of accelerator. What
are its limitations? 6+4=10
WI MR SFGOH AN W1 3 wgHN
Aarmerz & &2

(e) Discuss the relationship between
national income and economic welfare.
Does an increase in national income
always lead to welfare? 10
B o wF SRAF IR T Tor
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